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M7A Chapter 5 Quiz — Not graded!

Express each ratio as a fraction in simplest form.

1. $32 for 10 tickets

2. 450 miles in 6 hours
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3. $58 for 5 tickets
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4. Russell run _O mile in 5 minutes. How far does he

¢ 53 (75‘// L0 PEr TTCEE ) run in one minute?
/0 5‘/__ - = e A PP EE
50 -
o
Solve
5. James downloaded 8 songs in 3 minutes. At this 6. A farmer owns 12 cows. The cows produce about
rate, how many songs could he download in 30 90 gallons of milk a day. At this rate, how many
minutes? gallons a day could 20 cows produce? H
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10. Is the set of numbers in the table proportional? If the relationship is proportional, identify the constant of

proportionality.
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What is the Constant
of Proportionality for
the data shown in the
graph to the right?
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12. A recipe for chocolate chip cookies uses 3 cups
flour and 2 sticks of butter. Is the amount of butter
used proportional to the number of cups of flour
used? Explain
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16. A principal is ordering pizza for a school party. 17. A boat traveled 150 feet in 9.7 seconds. How far
She knows 9 pizzas will feed 25 students. If there would the boat travel in 1 minute? How far in 1
are 300 students at the school, how many pizzas minute 30 seconds? %
will she need to buy? : NN
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